Today you are going to be working in pairs to create a RISA 3-D model of problem 2-18 in the Hibbeler Text.
1. Open RISA 3-D. If the computer cannot find a license, continue in demo mode. Close the “Starting a Model” wizard pop-up window and turn off the grid using this button.
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2. To build a model, you will use the Data Entry menu bar and proceed from top to bottom

3. First is project grid—ignore it because you just turned the grid off

4. Next is Materials. Here is where you will create all the materials you will use in your model. RISA has preloaded some common materials. We won’t be creating any new materials at this time so close this spreadsheet.

5. Section sets is a very useful spreadsheet because it allows you to change the properties of multiple members at the same time. Our model only contains one member, but let’s create a new section set anyway. You can simply overwrite the one that is there. Create a section called WFBeam (for wide-flanged beam). Choose a W8x10 shape and change the material to A572 Gr. 50 (this is where you would use the materials created/generated in the Materials spreadsheet).
6. Ignore design rules for now.

7. Open joint coordinates and create the following points:

A: X=8, Y=0, Z=0

B: X=29, Y=0, Z=0

C: X=0, Y=0, Z=0

8. BOUNDARY CONDITIONS ARE HOW YOU ATTACH YOUR STRUCTURE TO THE WORLD. DO NOT USE BOUNDARY CONDITIONS TO CREATE INTERNAL PINS. Using the following guidelines, create a roller at A and a pin at B. You should have a line in each 2-D model that says “All” under joint labels and has “F” under Z, X Rot, and Y Rot. This forces the 3-D program into running a 2-D model. 
	Condition
	X
	Y
	Z
	X Rot
	Y Rot
	Z Rot

	Fixed
	R
	R
	F
	F
	F
	R

	Pin
	R
	R
	F
	F
	F
	

	Roller
	
	R
	F
	F
	F
	


9. Skip the diaphragms tab: these are used in 3-D models only to create floors, roofs, and ceilings.
10.  Use the members spreadsheet to create your beam. Name it “M1” and have C be its I joint and B be its J joint. It should be assigned to section “WFBeam”

11. Ignore the plates tab

12. The Basic Load Cases spreadsheet is where you create the different types of loads that you will place on your structure. Create a load called “Dead Load” and assign it to the DL category. Create another called “Live Load” and assign it to LL.
13. Skip joint loads for this model—joint loads can only be applied at joints

14. Click point loads and before opening the spreadsheet, switch the BLC at the top to say BLC 2: Live Load. Create two -5kip point loads on member M1, in the Y direction, at 15 and 22 feet. Click the button below and switch the drop down menu next to it to say “BLC 2: Live Loads” to see your loads.
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15. Create a distributed load by clicking the distributed load tab and create a spreadsheet under “BLC 1: Dead Load”. The load should be applied on M1 in the Y direction, have a magnitude of -0.4167 and go from 0 to 8 feet.
16.  Ignore area loads, plate loads, and moving loads. 

17. Open the Load Combinations spreadsheet and click the big, glowing, red LG Generator tab at the top.  In the pop-up menu, select the ASCE 2005 strength and click Generate. You can now view your combined loads by hitting the button below and choosing LC2: ASCE 2(a) from the drop down menu left of the button.
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18. Click the glowing green equal sign at the top to analyze your model. In the pop-up menu, select “Single Combination 2: ASCE 2 (a) and hit solve. A new menu bar will pop up with your results. Check the joint reactions from the model against the ones you got on your homework. 

19. When you are done, print a report including the following information in the following order: Report Header, Joint Coordinates, Boundary Conditions, Member Data, Basic Load Cases, Loads Point, Loads Distributed, Load Combinations, and Joint Reactions.

